Opérations Mixtes (J)

Effectuez chaque opération.

6x7= 246 = 18+6 = 306 =
126 = 6 X8 = 6x1= 6% 8=
366 = 9x6= 8xX6= 6x10=
48 -6 = 6x2= 6x3 = 12+-6=
6x1= 6 x10 = 606 = 42 -6 =
306 = 2X6= 6 x10= 8xX6=
4x6= 306 = I x6= 36 -6 =
5x6= 48 -6 = 6x3= 36 -6 =
7Tx6= 6x3= 606 = 54+6=
60+6= 126 = 6x8= 54+-6=
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Opérations Mixtes Solutions (J)

6x7=42

12+-6=2

36 -6=06

48+-6=38

6x1=6

30+-6=5

4x6=24

5x6=230

Tx6=42

60=-6=10

Effectuez chaque opération.

24+-6=4

6 x 8 =48

O9x6=>54

6x2=12

6 x 10 =60

2x6=12

30+-6=5

48+-6=38

6x3=18

12+-6=2

18=-6=3

6x1=6

8x6=48

6x3=18

60=-6=10

6 x 10 = 60

I x6=6

6x3=18

60=-6=10

6 x 8 =48

30+-6=5

6 x8=48

6 x 10 = 60

12-6=2

42+-6=17

8x6=48

36-6=06

36 -6=06

54+-6=9

54+-6=9
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